
3 lebxz - v"awg2011 xanaepa 17 libxz
max z = 6x1 + 5x2

s.t : x1 + x2 ≤ 5

3x1 + 2x2 ≤ 12

x1, x2 ≥ 0 oexzt:meyxp
max z = 6x1 + 5x2 + 0 · s1 + 0 · s2

s.t : x1 + x2 + s1 = 5

3x1 + 2x2 + s2 = 12

x1, x2, s1, s2 ≥ 0 :xqegd ipzyn z` 

eap
s1 = 5− x1 − x2

s2 = 12− 3x1 − 2x2

z = 6x1 + 5x2 .(dt libxzd z` wiqtd `ed dn meyn)libxz
max z = 3x1 + 6x2 + 2x3

s.t : 3x1 + 4x2 + x3 + s1 = 20

x1 + 3x2 + 2x3 + s2 = 10

xi, sj ≥ 0 oexzt:dxhnd 'wpet z` x
qp
z − 3x1 − 6x2 − 2x3 = 0

1



:dlaha x
qpdivxhi` qiqa ipzyn z x1 x2 x3 s1 s2 RHS
RHS

cij
dxey dxey zelert

z 1 -3 -6 -2 0 0 0 - R0
1

3
R2 → R20 s1 0 3 4 1 1 0 20 20

4
= 5 R1 R0 + 6R2 → R0

s2 0 1 3 2 0 1 10 10

3
=

10

3
R2 R1 − 4R2 → Rq

z 1 -1 0 2 0 2 20 - R0
3

5
R1 → R11 s1 0 5

3
0 − 5

3
1 − 4

3

20

3
4 R1 R0 +R1 → R0

x2 0 1

3
1 2

3
0 1

3

10

3
10 R2 − 1

3
R1 +R2 → R2

z 1 0 0 1 3

5

6

5
24 - R02 x1 0 1 0 -1 3

5
−

4

5
4 - R1 -

x2 0 0 1 11

9
−

1

5

3

5
2 - R2:`ed oexztd okl

z = 24

x1 = 4

x2 = 2

x3 = 0
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